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THIRD SMI’ER B.Com./B.B.A. DEGREE EXAMINATION, DECEMBER 2011
{CCSS) 2
Common Course
BC 3A 13—BASIC NUMERICAL SKiilS
{Common for B.Com/B.B.A.)

Time : Three Hours .
1. Objective Type Questicns. Answer all twelve questions:

Gmcse&eman.w
"L}’ Themmm&lffatmceoftheA.Pl—l—S, 582

@ 1 B -1 © -2 @ 2 . EXE?E%%&
g Theqmadrabcequhm ax’Tbx-c—O has equal roots if : :

S,

@ & —4ac<0- B p-4ac>0- © p-46c=0- @ P _gac=1-
C Which of the following statement istrus ? >
~ @ 0s{}. ® oc{}. @ o<=fo}. (d3 o={0}.
4 Wh:chnfthefnﬂeﬁngismformimadalasgm&imlsasofda:a? ;
, = (a) Mean — Mode = 3 (Mean — Median). (b) Mean — Median = 3 (Maan — Mode).
i {(c) Mean — Medmn 2 (Mean — Mede). {d) None of these.
Fﬂlmtheblan}s
C:, If%lsamamxcfnrder4x3aﬁdesamatnxofsrda'3xa,thmﬁxemﬂezo{ﬁ}emnéﬂaﬂ

gl 111
Gk The commeon ratio ofthe GP. 1, ::3;;--’" SRR o

/:\ If a set A containsn elements, then power sef of A contsins————— elements.
(8. EnaSymmetncd:stﬁbuhon,therdahenbeﬁveentheh{ean,ﬁedmnandﬁtdEngmb}'/

Answer the following :
LQ Define zero (Null) matrix.
10 f' Write down any two measures of central tendency.

[0 -1 5
il acf2 9. . L ¢
(12 .—tl i —5A. | (12 x ! = 3 weightsge)

1. Short Answer Questions. Answer all questiens:
1
(/ Compute the product AB where A = 3 and B= [" 3 4 3]

J
(}*‘f;j /J :

Scanned by CamScanner




. R ——
']

. 9 D 21493-A
~
4,/ Define geometric mean of a sgt of numhﬂf?”

47 15.. Define mean deviation of & set of numbers.
16.) Find the sum of the first 10 terms of the G.P. 9, - 3, 1, o

.......

17/ Find the 20 term of the A.P. whose first term is 5 and common difference is 2. —
’E[ 18. What do you mean by Kurtosis ?

275 ", &
@LetA=[_3 l}andB=[3 K],whatvalueofKifanymakeAB=‘BA./

@ A={x:x is a natura) number satisfy 1 < x <6} .

B={x:x is & natural number satisfy 6<x<10}. Find AUB and ANB.

2 4
@ Is the inverse of the matrix A = [_2 4 J exists ? Justify your answer. /

(9 x 1 =9 weightage)
I1. Short Essay or Paragraph Questions. Answer any five questions from seven.
Aﬁ{}/’” . Preparea questionnaire for understanding consumer preferences to evolve better ways of providing
snopping facilities to the consumer visiting Malls.
23/ Calculate the median :

e

Marks : 0-10 10-30 30 - 60 60 - 80 80 -90
No. of Students: 5 15 - 30 8 . 2

@ Find the amount to be paid at the end of 2 Years on Rs. 2,400 at 5% per annum compounded
anrually ? '

25/Find the sum of the first 18 termsof the A P.9,-3,-15, ... and also find the sum of the first 2n
rms,

Fir;d the value 6f x such that PQ = QR where P, Q, R are (6,
Solve the system of equations with the help of matrices.

Sx+2y=4

7x+3y =5, /

IfA=1{0,2,3,5),B=[-1,2 3,7, 9). Find

. @ AUB. (b ANB- (© A-B. () (A-B)y (B-a)

-1), (1, 3) and (x, 8) respectively.

BGx2= 10 weightage)

(2 x 4 = 8 weightage)

2 6 7 /
1 @ Find the inverse of the matrix A = 021 i
: 2 3 4
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